B.A/ B.Sc. 1** Semester (Honours) Examination, 2020 (CBCS)
Subject: Economics
Paper: CC-1

(Micro Economics)

Time: 3 Hours Full Marks: 60

[The figures in the right hand margin indicate full marks. Candidates are required to give their

answers in their own words as far as practicable.
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1 Answer any Six (6) questions: 5x6 =230

@ @FI7e M A4TeF Tex whs-

(@) What is a demand curve? Distinguish between changes in demand and changes in

quantity demanded.
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(b) Write the assumptions of Marshallian demand theory. How do you derive demand

curve under this approach?
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(c) Discuss the relation between price elasticity of demand and consumer’s total

expenditure.
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(d) Explain why is price elasticity of demand different at different points on the same

demand curve?
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(e)

Derive the equilibrium of a producer who minimizes cost subject to a given output

level.
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(f) What is meant by elasticity of factor substitution? Derive the elasticity of substitution
in case of CES Production function.
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(g) Define total product curve of an input. Bring out the distinction between different
stages of production.
G35 BAVITTR (W15 TAM @R ALea Wie | AR [fen B Wy A (rre

(h) Derive the short run equilibrium condition of a firm under perfect competition.
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2. Answer any three (3) questions: 10x3 = 30
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(@) How will you decompose price effect for a normal good into substitution and income
effect in terms of Hicks approach and Slutsky approach?
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(b) Given an indifference map and a budget line, show how a consumer can attain

equilibrium when the two goods are (i) perfectly Substitute to each other (ii) Perfectly

complementary goods.
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(c) Distinguish between short run cost function and long run cost function. Show that

long run average cost curve is the envelope of short run average cost curves.
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(d) State and prove the important properties of Cobb-Douglas production function.
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(e) How will you derive the long run supply curve of the competitive industry in the
presence of external economies - explain.
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